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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all the questions.

1. The human population census in 5.
India is carried out by which of the
following ?

The World’s biggest exercise to map
household assets and amenities in
India began on which of the
(A) Director General of Health following date ?

Services (A) 1% April, 2010
(B) Director General of Central ot .
Statistical Organization. (B) 17 April 2009

(C) Registrar General of India © 1" January 1991

(D) Director, Anthropological (D) 1% January 2009
Survey of India.

6. Which one of the following rate is
referred as the probabilistic rate ?

2. Information on which of the
following topics is not provided by

Indian Census ? (A) Migration rate
(A) Demographic characteristics (B) Marriage rate
(B) Economic characteristics (C) Crude death rate

(C) Health Status of the Population

(D) Crude birth rate
(D) Personal and  Household

characteristics
7.  Child-women ratio is a measure of
3. Among the -countries mentioned (A) Population growth
below arrange most populous o
countries in descending order. (B) Migration
(A) China, India, U.S.A,, (C) Mortality
Indonesia. (D) Fertility
(B) China, India, Indonesia,
U.S.A.
(C) India, China, Indonesia, 8. Which one of the following
US.A. population growth model is not
tched tly ?
(D) US.A., Indonesia, India, ratehed cotreety
China. (A) Geometric : P, =P_(1+1)

: . — It
4.  In which of the following categories (B) Exponential : P =P,e

does the estimated Crude Birth Rate

(Per 1OQO population) of the World (C) Gompertz . P,=BC!
Population fall ?
(A) 11-14 B) 15-18 (D) Logistic . P £

t_1+ea+bt

< 19-22 (D) 23-26
Paper-11 2 J-1510



STHEET 3eFa
q3qqT — I1

AT :  TWURAUST H TS (50) TE-Toehodid U9 € | Ueieh TR % oY (2) 3k § | Wlt Ul o 3TR T |

1.

TR H S0MT i, Hefoiad § 9
FATATE ?

(A) T e, weree TaT |
(B) T FSuTeh Shesii Wifeeht T |
(C) R & IR 1A |
(D) eTeh, R FoT-eh TeToT |

e & ¥ 9RA™ SFROMET § e
T Hemelt STt =8t et & 2

(A) SHifshepa fafemzant
(B) férep fafeant

(C) STHEEAT hl @ &R
(D) it Tei wiey ferfereeard

AYhad G % AER W
Frefotiiad 29T bt 3Terie! shH o TRaU :

(A) =, WA, ST, ToeHTemEr
(B) =M, ¥R, TUSHTRN, STHIER
(C) ¥R, =, TSHIRMT, SFHEH
(D) 3T, SUSHITET, YRA, =

Fefafeg & 9 99R & S,
SN S S (W 1000 STI=),
e ot § a7t € 2

(A 11-14 B) 15-18

© 19-22 (D) 23-26

J-1510

S.

FAfetaa faferar o 9 fog faf = ara
H ERe] UREHET 317 Gaeme bl S
N Ovd B HEFaH YA U [T
w3 ?

(A) 1% 3ve, 2010
(B) 1% 3w, 2009
(C) 1*SHer, 1991
(D) 1% =Rt 2009

fefefaa =0 & & fog < &l
HTerehell 5 heT ST e ?

(A) "I R
(B) foEmE=
(C) 3TTOIT g X
(D) 3TEIET ST &

Terer-feeT eTuTd foreR ATRUE § 2
(A) SHIET foe

(B) var®

6 TIAR

(D) W

f=teIfad 5 ¥ & 91 SHEE g 5T
Higet GafeTd &1 & ?

(A) TSefmigs P =P (1+r)
(B) USUMREe: P, =P e

(C) Mws  :P,=BC!

_K
t_1+ea+bt

(D) wiNRes P

Paper-1I



9.

10.

11.

Match List — I with List — II.

List -1 List — II
P +P
(a) Survivalrate (i) woffo
59115
: pf
(b) Child- (ii) W o
Women ratio p™
W o
P
(c) Dependency (iii) 50
ratio 4% 15
t+n
(d) Sex-ratio (iv) nxf
n- x
Codes :
@ @® (© (@
A) @ @) (@Gv) (i)
B) ) (@ G (@)
© @) @Gv) @G @
D) Gv) (i) (@) (D)
Assertion (A) Sex-ratios
(females/1000 males) during
ageing are found high in
developed nations than the
developing ones.
Reason (R) Life expectancy

of females is higher than the
males in developed nations.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is correct.

Which of the following major States
of India has recorded the highest
density of population during 2001
census ?

(A) West Bengal

(B) Uttar Pradesh

(C) Bihar

(D) Kerala

Paper-1I

12.

13.

14.

The growth rate of the population of
the world was the highest during the
period

(A) 1910-1920 A.D.

(B) 1940 -1950 A.D.

(C) 1970 -1980 A.D.

(D) 1990 —-2000 A.D.

Assertion (A) : In India, the
growth rate of population
started declining since 1981.

Reason (R) India entered
into the third stage of
demographic transition during
1980s.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Match the following population

parameters among the major States
of India, as per 2001 census.

Population Major States
Parameters
(a) Lowest (1) Jammu
share of &
population Kashmir
(b) Lowest (i) Himachal
density of Pradesh
population
(¢) Lowestsex (iii) Kerala
ratio (F/M
x 1000)
(d) Lowest (iv) Punjab
decadal
growth rate
Codes :

(@ (b ( (@

@A GO @@ @) @Gv)

B) @) @Gv) @ ()

© a @ Gv) (i)

D) Gv) (@) G) (1)
J-1510



9.

10.

11.

Tt — 1t gt — [1 F HfeAd HifoTe
Tl -1 T - 11
(a) e & 0 15P6 + Peo
‘chQ[QT 59P15
f

S wPo
© RGP,
A (i) 49V 15

t+n
n x+n

(d) FFm-SFpT (iv) — "

n-x

&
@ @ © @

(A) () () (>(v) (i)

B) G (@) Gi) (Qv)

© (i) @Gv) G @)

D) (v) i) () (i)

Afipe (A) :  fapmsiar <m0 @t
31T foeRfad 39T | g | formr-
st (Rt /1000 qBw) o
AT YT AT E |

T (R) : oot g 7 et
1 S-S GOt i Jo T |
HYF |

(A) (A) 3R (R) SH W&l ¢ 3R (A)
%1 (R) T&l TR0 E |

(B) M (A) 3R (R) Wl & W (A)
%1 (R) Fel TS0l el & |

(C) (A) WEIE, R (R) T & |
(D) (A) oA 8, R (R) TRI T |

IRA & TS TSI H, 2001 Y SFITOMET
* AR TRE [T § SHE@n
AT T i NehTS TohHaT 77T ?

(A) UufSEHtEme  (B) SRR
(C) TBR (D) W

J-1510

12. fova =t S=EE & fowrg 2 g eafy

13.

14.

% IR ATy off ?

(A) 1910 - 1920 9. W=
(B) 1940 — 1950 £.9. W=
(C) 1970 — 1980 £.9. ST
(D) 1990 — 2000 .9. ST

ANMHAT(A) @ 9RG T SEET A
Ihg X 1981 T HH BT URET &l
TE |

& (R) . WRT 1980 W
AT & SR STHIThehT HehH0T
o T T T Wi & T |

(A) (A) 3R (R) 3HI TEl & 3R (A)
1 (R) &l LT |

(B) (A) 3R (R) 3 Tl &, A (A)
%1 (R) el T20T &1 & |

(C) (A) WEE, W< (R) Teid &1
(D) (A) TEd 8, R (R) TR T |

2001 hl STITOMT o STER W FEterad

STEEAT TRTHTERT ST TR o T I &

oo SHIfTT

TS WX WHE T

(a) ST (i) STH-HYHR
AAH 9T

(b) SFEETH (i) EHEe
FATH g1 PEN]

(c) =gAam ferm-  (iii) et
3T
(Feat / et
x 1000)

(d) FATHEIS  (iv) I

g
&

@ O @© (@
A ©» Gy () 3[Gv)
B) (@) (@Gv) (@ (D)
<G @ @ (@Gv) (i)
(D) (v) (@) @[y (D)

Paper-1I



15.

16.

17.

As per 2001 census, arrange the
major States of India, based on
decadal growth rate (1991-2001) of
population in ascending order.

(A) Kerala, Tamil Nadu, Orissa,
Himachal Pradesh.

(B) Kerala, Tamil Nadu, Himachal
Pradesh, Orissa.

(C) Tamil Nadu, Kerala, Orissa,
Himachal Pradesh.

(D) Orissa, Himachal
Tamil Nadu, Kerala.

Pradesh,

Assertion (A) NRR = 1 means
population becomes stationary
in the long term.

Reason (R) NRR = 1 means

that a woman replaced by one
girl on an average in her
reproductive life span.

(A) Both (A) and (R) are correct,
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are correct,
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Among the following sources of data
which source does not provide
information on fertility ?

(A) The Vital Registration System
(B) The National Periodic Census

(C) The Model
System

Registration

(D) Sample Fertility Surveys.

Paper-1I

18.

19.

20.

21.

Match items of List — I with items of
List — IT given below :

List -1 List - 11

(a) Theory of (1) Arsene
Change and Dumount
Response

(b) Theory of (1)) Kingley
Social Davis
Capillarity

(c¢) Proximate (1ii) Easterlin
Determinants
of fertility

(d) Economic (iv) Bongaarts
framework
for fertility

Codes :

(@ (b ( (@
@A) G @H (Gv) (i)
B) ) @ @) (Gv)
© GO @@ @) @Gv)
D) Gv) (@) G) @)

As per the model devised by

Kingsley Davis and Judith Blake,

which among the following is not

“Conception variable’ ?

(A) Fecundity or infecundity as
affected by involuntary causes.

(B) Use or non-use of
contraception.

(C) Fecundity or infecundity as
affected by voluntary causes.

(D) Age of entry into sexual union.

If death rate of a stationary
population is 10, its life expectancy
would be
(A) 100
(©) 50

B) 80
(D) 10

Knowledge of HIV/AIDS among
ever married adult men (15-49)
according to NFHS-3 was around

(A) 60 % B) 66 %
©) 68% D) 70 %
J-1510



15.

16.

17.

2001 SFIUMT % SMER W, 9Rd &
TG AT H S ST 3 &
(1991-2001) & SFER 3IRE HA
|

(A) A, dferTe, Serd, fErm
Pty

o o
(B) e, dafgerrs, femmer usw,

ESIE

(C) dfferTg, e, SerdT, fErmd
PN

(D) Sfean, fedmet W, dfterrs,
A

AMNHAT(A) : TI AR AR = | &
3 & T SHwet § SO
RIS S e |

& (R) : THAR R =1
19 & o Uk oTeehl, 39 U
AgeT, ST 98 3797 R JAScdr
Y FHAETY T TEET FA 8,
FEEAANE |

(A) (A) 3 (R) SHI WeT & 3R (A)
%1 (R) Y&l TE0T & |

(B) (A) 3R (R) 31 Wl &, ] (A)
T (R) Tel TSI Fé & |

(C) (A) WEIE, R (R) T & |
(D) (A) Ted 8, R (R) TR T |

frefefad sferer-eidl § @ S @1
B TSI Tl e el ar € 2

(A)  STH-T USTRT e
(B) S 3@ SO
(C)  THAT USfiehvoT Ugha
(D) AT IS HaeToT

J-1510

18.

19.

20.

21.

et — 1 %l O&T ol gt — 11 1 081 &
Fafera Sifew :

et - I et - 11

(a) TRET Ud () eREF
TR gHTSIE
g

(b) QTSR (i) forreret
HISTERT (HIIT fa
FTeA)
g

(c) WIS (jii) $&Te
ereardt
heh

(d) TSR (iv) Smed
o smferes
g

FT:
@ ® (@© @

A () () (Gv) (i)

B) ) @ () >Gv)

<G ® @ () 3Gv)

(D) (v) (@) (@) (D)

frefya dieet & AR, f=fatad ¥

T B G MR W (FEIE

AReTeT) B & ?

(A) VS-S el IUSTH-
T W IS 35 FHROT |

(B)  THFRIEIehT ST AT 375 3T-UHT |

(C) WoiH-e7adl  3a  3TFA-
&THAT W Ufessh HROT |

(D) TR AT | ufafse & a0
e ol

i Tord! Tt STHE@T 1 9 <X 10

& ol ST STier TedTem &I

(A) 100 (B) 80

© 50 (D) 10

TA.U.UF.UG-3 & 3R (15-49) 99

o foratfed gosi § U= e, / USH &

IR ° SRR oTTHT fohe= wfeerd ot 2
(A) 60 % (B) 66 %
(C) 68 % (D) 70 %

Paper-1I



22.

23.

24.

25.

In the life table which one is not
correct ?

2M, 2n- M,

(A) q)6_2+Mx B) 9= 2+n- M

T)C

© ex:Z (D) T,=L +1,

Followings are found associated

with the reproductive health :

1. RTI

2. HIV/AIDS

3. Teenage pregnancy

4. Nupliality

Find out the correct combination of

answer according to the code :

(A) 1,2,3and 4 are correct

(B) 1,2 and 3 are correct

(C) 1,2 and 4 are correct

(D) 2,3 and 4 are correct

Assertion (A) Poor women
experience more infant
mortality rate than well to do
women.

Reason (R) Poor women
have less access to health
services than well to do
women.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which among the following is not a

Fertility theory ?

(A) The theory of social capillarity.

(B) The theory of change and
response.

(C) The theory of
population.

(D) The theory of diffusion or
cultural lag.

optimum

Paper-1I

26.

27.

28.

Assertion (A) According to
Blacker’s scheme of
Demographic Transition,

Kerala has entered 4" stage of
Demographic transition.

Reason (R) Kerala’s  Low
Birth Rates are balanced by
substantially Low Death-rates.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) According to
Malthus Agriculture
production  increases by
Arithmetic progression and
population increases by
Geometrical Progression.

Reason (R) Green

Revolution in India has
revolutionized the growth-rate
of agriculture.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which one of the following is not
correctly matched ?

(A) Demographic — Notestein
Transition

(B) Intermediate — Davis &
Variable Blake

(C) Utilities
Disutilities

(D) Household — Becker
Commodities

& - J.C. Caldwell

J-1510



22, Sfe-dielerl | FEfeiad § 9 i 9

23.

24.

25.

T T8 ?
2M,
(A) 9, =57\

X

2n - nMx

B) 4= 2+n- M
X

T
© e=7

X

(D) T, =L+,

fferiiaa o1 Ty TSR @RI 9 Y
1. 3RIreTE

2. wHeEdl/ UsH

3. [orelRreren | meiRoTeET

4.  aiEehdr

3T P B TR T FE W BT G99
FHifsTT

(A) 1,2,33R4TEE |

(B) 1,23R3EEE |

(C) 1,23R4TE |

(D) 2,33R4TE |

afipe (A)  : TEF dfgemst #
T HIECM3ll i 3UeT 3
R g REAME |

& (R) : TR dfeemen @t

T leettsl H qorT H Y
T YT SUAH Bl & |

(A) (A) 3R (R) 31 T&l & 3R (A)
T (R) el TEHTE |

(B) (A) 3R (R) SHI Tl €, T (A)
%1 (R) T&l W0l TR € |

(C) (A) TElg, R (R) TAq & |

(D) (A) T g, R (R) TR T |

FeAfeTiae | @ i 1 et g el € ?

(A) IS HISTehT (HIFTA HiUeIN)
g |

(B) RS Ue ST (AT |

(C) 3 TFeIaH SHUE 5T |

(D) TowRUT o7 AiRepids Usem
g |

J-1510

26.

27.

ANHAT (A) : T HI SHIFHE
ThAUT WA & AR, WA
STifehepIa TehHUT i =t STere
AU S TE |

% (R) ;A WO W R
= g X GRT ford &1 SA € |

(A) (A) 3R (R) SHT Wl € 3R (A)
%1 (R) T&l TR0 E |

(B) (A) 3R (R) T Wl €, T (A)
%1 (R) T&l Tl FE1 ¢ |

(C) (A) WEIE, W< (R) T & |
(D) (A) A 8, R (R) TR T |

ATUHAT (A) : FOIH 6 AR FA
e | ghg T gt g 3
ST | S gl e € |

& (R) : WRA H el st A
P SATG-TL B ShIT AT ST & |

(A) (A) 3R (R) SHI Wl € 3R (A)
%1 (R) el TEFoT & |

(B) (A) 3R (R) T Wl €, T (A)
%1 (R) T&l W0l T € |

(C) (A) WEIE, R (R) T & |
(D) (A) oA 8, R (R) TR T |

28. Tfetiad H W oA |1 GHierd T81 8 ?

(A) SHIRRE  — AREH
GehaoT

(B) HHEdI TR _ Sfad IR =0

(C) ST ud _  .4I. Fesae
ST

(D) MEAIAHEA  _ T
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29.

30.

31.

32.

33.

Which one of the following names is
associated with migration theories ?
(A) Malthus

(B) Ravenstein

(C) Caldwell

(D) Chandrasekharan

Assertion (A) Concept of
human ecology is dynamic
beyond man-environment
relationship.

Reason (R)

is  Dbetter

interpreted

dimension.

Both (A) and (R) are true and

(R) explains (A).

Both (A) and (R) are true and

(R) is not the right explanation

of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which one of the following

characteristics is best suited to the

formulation of sustainable development

strategy in Indian planning ?

(A) Minimising regional imbalance
in development.

Human ecology
understood  and
using  regional

(A)

(B)

(B) Employment generation
creating durable assets.

(C) Minimising rural-urban
dichotomy.

(D) Providing minimum levels of

facilities and amenities to the
entire population.

If the entire urban population were
concentrated in one city, the value of
Gini concentration rate would be

(A) 0.0 (B) 03

(C) 05 (D) 1.0

Which one of the following is a
conurbation ?

(A) Lucknow — Kanpur

(B) Bangaloru — Tumkur

(C) Ahmedabad — Vadodara

(D) Kolkata - Howrah

Paper-1I
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34.

35S.

36.

37.

38.

Percentage of urban population to
total population in India as per the
2001 census was approximately

(A) 25percent (B) 30 per cent
(C) 35percent (D) 40 percent

Which one of the following

characteristics is not included in the

census classification of a town in India ?

(A) Population size

(B) Presence of Cantonment or
Municipality

(C) Percentage of male workers in
non-agricultural activity

(D) Functional characteristics

W. Christaller envisaged a hierarchic

system of settlements based on

administrative function with value of

(A) K=3 (B) K=4
(C) K=6 (D) K=7
Assertion (A) The female work

participation among the Tribal
population of India is high.
Reason (R) India has a rich
heritage of Tribal Art and
Artifacts.
Both (A) and (R) are true and
(R) is the correct explanation

(A)

of (A).
(B) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A).
(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

Assertion (A) Prevalence  of
Domestic  violence against
women in India is high among
low income households.

Reason (R) India is
experiencing feminization of
poverty.

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)is true, but (R) is false.

(D) (A) is false, but (R) is true.
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29.

30.

31.

32.

33.

feffad & @ S | A gerdd
gl 9 STergen g ?

(A) ToaH (B) oA
(C) e (D) IIEA

AfMHIT (A) @ THEE TRt
TRt 3Taramon st Tiqeiciar IFa-
STAERO FF g W & |

& (R) : AEEE Rt

fasmm @ &g foart @ et

AT S HHATE |

(A) 3R (R) I Tl € 3R (A)

%I (R) WL HEATE |

(A) R (R) FFT T &, T (A)

%I (R) T F&l HLAT & |

(A) T e, T (R) T € |

(A) T &, TR (R) Wl & |

(A)
(B)

©
(D)

ffafad ¥ @ = 9@ faferedr arot

Ggtg & fofy 9IRA= AT B a9 |

31T ST Bl 2

(A) foFm ¥ &Em oo W
AT T |

(B) SR [T T et aiegeorsT
I TATATE |

(C) UMIU-TRE SR i 3TqdH
M |

(D) TgHl SHEET % fou e )i
-Gt il 3T |

g Ul TRIF AR Tk & TR
SIS &, Tl RTT Tehws0T 3T T JodT BRT
(A) 0.0 B) 0.3

© 0.5 D) 1.0

feffgad & @ S w1 9y
(conurbation) HF ATE ?

(A) ETSH — FEAR

(B) STeAIE — FHET

(C) IRUIMER — dSRY

(D) hICThIAT — BIdSI

J-1510
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34.

35S.

36.

37.

38.

T 2001 I SO § 9RA H Fol
AEE H TRIE SAEE! I e
T Tt o 2

(A) 25ude (B) 30 Waw
(C) 35uaea (D) 40 Waer

= 7 9 T faRmed ® 9rRdE

SO § &l ol J0Tieg A & o

wfeafere @ ferar T 7 2

(A) STEEEAT H 3R |

(B) STEAT YU TRUICAHT T & |

(C) TR P FET B T-hrEharen i
HfdTaar |

(D) SRR AT |

Ty, Toheer o ARl & 3ohH UG
I FEUAT HI A ST YRR FE W

e off, FoTaeht Jogr o

(A) K=3 B) K=4

(C) K=6 D) K=7

AP (A) : 9RaG  H ST
SEE 0 fEE s wE o°
TEITET 2t ¥ |

& (R) ¢ YRA H SN

Sl Uel TEHcl ohl T feRTaa & |
(A) 3R (R) I Tl € 3R (A)
T (R) el TEHTE |

(A) #R (R) FHI T &, T/ (A)
&1 (R) T&l T &l € |

(C) (A)WEle, R (R) Toxd &
(D) (A) T g, W (R) W& |

ANHAT (A) : YRA H = o1 F a1
WA e W ome oW
STYehell T4eh ¢ |

& (R) : YRA T AT g9

3TERTCT ol SO 1o Ug e Jeh € |

(A) 3R (R) I W&l € 3R (A)

T (R) el TEHT & |

(A) 3R (R) FHI W &, T/ (A)

&1 (R) T&l TR0 TR € |

(A) W&, R (R) T € |

(A) TAT &, R (R) TR T |

(A)

(B)

(A)

(B)

©
(D)
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39.

40.

41.

42.

Assertion (A) Within India, the
quantum of female migration
is higher than the male
migration.

Reason (R) The proportion

of educated tribal female is

higher than that of males in

India.

Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true, but

(R) is not the correct

explanation of (A).

(C©) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Assertion (A) Son preference
is high in India.

Reason (R) Old age

securities are negligible in

India.

Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true, but

(R) is not the correct

explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is not
associated with Population Policy ?
(A) Reducing fertility

(B) Increasing migration
(C) Safeguarding mothers
child health
Addressing the un met need
for family planning.

(A)

(B)

(A)

(B)

and
(D)
Which of the following is not

associated with family welfare
programme in India ?

(A) Couple protection rate

(B) Tubectomy

(C) Medical Termination of
Pregnancy

(D) Incentives

Paper-1I
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43.

44.

Assertion (A) The National
Rural Health Mission (NRHM)
has been  successful in
improving health conditions of
the poor living in village.

Reason (R) Village
Panchayats and Accredited
Social Health Activist (ASHA)
are more active in
strengthening the = NRHM
activities.

(A) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) is true, but (R) is false.
(D) (A) is false, but (R) is true.

different
implemented in
chronological order :

Arrange programmes

India in

Family Planning Programme (FPP)
Family Welfare Programme (FWP)

Maternal and  Child  Health
Programme (MCHP)

Reproductive and Child Health
Programme (RCHP)

(A) MCHP, RCHP, FPP, FWP

(B)
©
(D)

FPP, FWP, MCHP, RCHP
FPP, MCHP, FWP, RCHP
RCHP, MCHP, FWP, FPP
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39.

40.

41.

42.

Afipa (A) @ 9Ra H fo= &
T Yo o YA i 3TUET
AMH T |

& (R) : 9Rd ¥ Tmem

anfeaTdr ferat a1 S gos |

AMHE |

(A) 3R (R) 3T W& € 3R (A)

%7 (R) el TEHTE |

(A) 3R (R) THT &l €, W= (A)

%1 (R) el T2ehoT &1 & |

(A) TEl ¢, R (R) TAT & |

(A) T &, T (R) TET & |

(A)
(B)

©
(D)

it (A)
AT |

& (R) : 9Rd H ggreen

TRET TET o SRR & |

(A) 3R (R) I T & 3R (A)

T (R) el TEHT & |

(A) 3R (R) THT &l €, W= (A)

%1 (R) T&l W0l T ¢ |

(A) &l ¢, R (R) TAT & |

(A) T &, T (R) TET & |

: 9Rd H U SR

(A)
(B)

©
(D)

frfefaa & & &9 @1 sHEEn i
Ty i 8 ?

(A) USTHH i FHH FHET |

(B) VoG i ST |

(C) HmeT 3R et & @ &t
TETT YT |

IRER FF=H &0 39T /A B IR
&I 37 57 31T ek IRT el foham
ST T |

(D)

frefeTiae shrEshHl § | hi9 |1 hEHH &
ST RA | FTeTd IRER SheaToT HTIshar
T g i 2

(A) THT AR

(B) el

(C) TTTor=n ot Tafshedia THTea
(D) WicaEA
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43.

44.

ANHAT (A) : TSF THOT @R
fs (NRHM) Tt o & ot
o HHeA A |

& (R) : UMW YOEd adr
Theds TR BoY  UeieRe
(ASHA) Tiai H UH.3/R.U<.U,
% oFRampedl &t SgEr T H
AT FiRT & |

(A) 3R (R) TAT W& & 3R (A)
%7 (R) el TEoT & |

(A) 3R (R) I TET €, TR (A)
%1 (R) T&l W0 TR € |

(A) FEl g, Rq (R) TAT & |
(A) T &, T (R) W& |

(A)

(B)

©
(D)

IRad B wn fafu= e

FHTTHATTIR FIM :

IRER ST Hshe (TH.OT.)

IRER FHeAT0T FEHT (Th. T, 1. )

g wd o] W s

(TH. L EEr.)

U Td R @R wEwd

(3R Gr.u=.T.)

(A) UHHUEY, IRHTIU, TEHUM,
EEEEekl

(B) uwHl, Uhgsedl, AT,
SRt

(C) UHUM, URHUEd, UhSE,
AR

(D) STRET, THETET, THEH,
TR
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45.

Match List — I with List — IL.
List -1 List - II
(a) Inception of (1) 1976
F.P.
Programme
(b) Important (i1)
Developments
in F.P.
Programme
(c) Family
Welfare
Programme
(d) First National
Population
Policy

1977

(1) 1952

(iv) 1980

(v) 1966

Codes :

@ @® (© (@
(A) () (v) @G (@
B) Gv) @) @G (1)
© @® G Gy (W
(D) @) (@Gv) @G @
Read the following passage carefully
and answer the following Question
Nos. 46 to 50.

Chinese writers, since the time
of Confucius, have theorized that if
population is too small in
comparison to Land, it would remain
uncultivated and lead to default of
tax. On the other hand, too large a
population can lead to economic
hardship. Chinese writers had an
under current of optimum population
in their thought when they made
these observations. The ancient
Chinese writers also observed that
mortality increases when food
supply is insufficient, that premature
marriages make for high infant
mortality rates, that war checks
population growth, and that costly
marriage ceremonies reduce the
marriage rates although they paid
little attention to the manner in
which  numbers  adjusted to
resources.

46.

47.

48.

49.

50.

Paper-1I
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The main issue of concern in the
paragraph related to population, is

(A) Optimum population

(B) Food supply

(C) Land available for cultivation
(D) Marriages

Population numbers are adjusted to
(A) Resource Availability

(B) Customs
Practices

and Cultural

(C) Land-use and Food-supply

(D) Taxation system

Over-population results in
(A) High mortality rate
(B) Late marriages

(C) War

(D) Economic hardship

The impact of small population is
felt on

(A)
(B)
©
(D)

Food supply
Land remaining fallow
Pre-mature marriages

High infant mortality rate

The tone of the passage can be best
described as

(A)
(B)
©
(D)

Analytical and Optimistic
Biased and Unprofessional
Critical and discouraging

Descriptive and Conclusive
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45. g — 10 et — 11 § GAferd it

T -1
(a) UNER =
IS hl U
(b) URER =
ISR H Hewaqu
IEEE)

(c) URER HedToT
FHTEHA

(d) 7w T
SEEAT it

et - 11
(1) 1976

(1) 1977

(111) 1952
(1v) 1980

(v) 1966
Fe:
@ (b © @
A) @) (v ) @
B) Gv) () G) (@)
<G © @ ) W)
D) @)  Gv) () @)

e TTRITST BT YA Ugt NG, 46 9
50 % 3T I

T TREehT 3, FHREE % g
& =% Togra fea & for s i =it
o H IS S5 & 9 8l df [ g |
Tt T 1 ST T ST FR-E W
MM | T 3R, SHGEAT T AT
FeT 3R HiSTEAT Y 3R o STATE |
T oiEehi 3 STe T el of 3k O H
g S=ATE TeT & T foh ST i g
TAH T | R T oRaehl il 98
ff foar o1 7% g9 R @@ wel &
IAT AT B IR Sgell & | et 377
T St & oI 9oy <X 3= et & 3R
g STGEAT T g ¥ Ahd € | 320 =
et ToeTe TuRET ¥ foaw R ged € |
TR 27 oigehi A 39 TR &9 78 {2 foh
SHEET H A ¥ Ao R TRR
ISAE |

46.

47.

48.

49.

50.

J-1510

15

TG AT FRT &9 39 2 Rl TR @i
T & S S ¥ G

(A) T SHEEAT

(B) @& =g

(C) Tt o foTu Suetey vy
(D) foeme

SGEAT hl [T T THRES TR STrarn
5

(A) I Sete

(B) ifdRamsT ud Hihides SHeeR
(C) i i Uel ey Jeears
(D) & ToTIeI

A ST T e BT &
(A) 3R FI

(B) ek 31 H fore
© 3=

(D) TR hiaTEar

frefeiaa & @ &9 SHEET & g9
g R e e ?

(A) TWE-GEAE W

(B) 3 @ o W

(C) edt 31g o foame W

(D) 3Tk RO Jg W W

TG A Wl I Bl IS UBR o
0T foha ST GehaT &

(A) forgeisomeres Te SeTene
(B) YAUEd Us STEETS
© AT Uel [Mocdecs

(D) SUFTCHS U oIS
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